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March 2023 Common Test

QUESTION 1

1.1 2:7:14; 23; 34 ...........

Fifth term is 34 AV 34 1)

12 T, =an’+bn+c
2a=2

a=1 Av a=1
5=3a+b
5=3(1)+b
2=b CAvb=2
2=1+2+cC
c=-1 CAvc=-1

T =n*+2n-1 CAVanswer (4)

13 First difference 5;7;9;11;....
T, =2n+3 AY'2n+3

57=2n+3 CAVequating to 57
54=2n
27=n

Between T,, and T, CAY'T,, and Ty (3)

[8]
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QUESTION 2

2.1.1 10;a;24:b;38;......

a-10=24-a Av'equating
2a=34
a=17
38-b=b-24 Av'equating (2)
62=2b
31=b
OR OR
AV answer
Q- 24+10 —17
2
o 24438 . Av answer 2)
2
2.1.2 a=10
d=7

S, =g[2a+(n—l)d]

67
S, =7[2(10) +(67-1)7]

S, =16147
OR
n
S =—(a+l
n 2( )
67

S == (10+472)

S, =16147

Av/substituting

CAV answer (2)

Av'substituting

CAV answer

(2)
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2.1.3 10;24,38;52;66;.............ce.....
a=10 Av'sequence
d=14
n=34

s, =g[23 H{n-1)d]

Sy = %[2(10) +(34-1)14]
CAV'sub into forml

S., =8194
3“ CAV answer
OR OR
n
S, =—(a+l
n 2( )

CAV'sub into formt

34
S, = ?(10+472) AV 472
S,, =8194 CAV answer (3)
2.2 i
For: 23.214 a 3 r _1
r=2 2 2
5 =2 - 15 _3 AV'S, =3
1-r 1-05
12
For > 3.2"" a=> 1=l n-n
r=2 2 2
AV'S, =2,999
1,5(1-(0,5")
=" 12999
1-0,5
..3+2,999 =5,999
CAVv answer (3)

[10]
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QUESTION 3
3.1
311 r=x-2 AV (1)
312 | -l<x-24l AV
]

1<x<3 CAV answer (2)
3.2 a+ar+ar®+ar®=8400

ar®=27a Av forming equation

r=3 AV ar®=27a

a+3a+9a+27a=8400 CAV value of r

40a =8400

a=210

R210; R630; R1890; R5670 CAVY answer (4)

[7]
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QUESTION 4
_ AV ti
4.1 g=x—1 equating
X
2=x"-X
0=x*-x-2
0=(X_2)(x+1) CAV factors
X =20r -1 CAV¥ x values
y=2-1=1 CAVY'y values 4)
y=-1-1=-2
(2:1);(-1-2)
4.2 Av'shape of f
Av'slope of g
CAVlabel points of (3)

intersection

4.3 x< -1 CAvV x<-1
or
0<x<?2 CAv' 0<x
CAY x<2 3)
4.4 Translation 3units to the left and 4 units down. AV 3units lejt
AY 4 units down (2

[12]
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QUESTION 5

51 |  _1 AV (1)

5.2 me -3 AV (1)

53 y =alx— —_ )(2)

y=-2x*+X+6
2
y=- [l) +—+6=£
4 8
49
n=—
8

Av'sub x- intercepts

Av'sub (0;6)

CAva=-2

Av'sub x:l
4

CAv'value forn

[7]
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QUESTION 6
A
° 2l g Avsub (3:33)
8 8
3 % =a CAV cube root
3_
2 ° (2)
6.2 xeR AV (1)
6.3
Av'shape
Av'point
AV x-intercept
3)
6.4 ( 3 )v Av'swapping X
X=|=
2 and y
coordinates.
g(x) =log, x Av answer (2)
6.5 3 CAV answer
xe|0;3=
° @
[9]
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QUESTION 7
7.1
7.1.1 ) 1 t2
tan 40" = ‘/ - V4 Av' diagram
e 2
= ,/1—t; A Jl—t
t X t
(2)
7.1.2 | cos? 130°
= (—cos 50°)? AV —cos 50°
2 2
V-t J1-t2
= ( 41 J CAY
1
—1-¢ CAV 1-¢t (3)
7.1.3 | cos 220°
= cos (180° + 40°) AV’ cos (180° + 40°)
= _cos 40° AV’ —cos 40°
=—t CAvY -t
3)
7.2 sin 237° cos 1470 . COS 213°. cos 303°
tan 237° AV _sin 57°
o o —sin
= (-sin 57°) . (—cos 33°) — (- cos 3’3 )5 (7COS 57°) AV —cos 33°
an 57°
. . sin 57°. cos 57° Av —cos 33°
= (o] . (o] +
sin 57° . sin 57 an 570 AV cos 57°
=sin 57°. sin 57° + sin57°. cos 57° | Z‘I’ns :; AY tan57°
=sin?57° + cos? 57° AV sin?57° + cos? 57°
=1 AV a
)
- [15]
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QUESTION 8
8.1 1 - cos 2x — sinx
tanx= ——
sin 2% — COSX
RHg= 1 JE82X - SInX AV 1-2sirfx
%&Zx—cosx AY' 25sinx cosx
_1- (L 2sin?x)-sinx
25iNX COS X — COSX AY" simpli fi catin
2sin’ x —sinx _
I (2sinx - 1) AY' (2sinx—1)cosx
_ sinx (2sinx—=1)
T Tcosx Psinx=1J AY' denomi natorand numerator
=tan x
=LHS (5)
8.2 Undefing i f: sin2x—cosx = 0 Av =0
2sinx cosx — cosx = 0 AY' 2sinxcosx
cos X (2 sin x 1).=0 AV COSX=0
5. c0sx=0 or sinx= % _
AV sinx= ¥
w Xx=90%°+k.360%°0r x=30°+k.360%keZ
OR
Xx=270°+ k.360° or x=30°+k.360°; keZ
OR
Xx=270°+k.360° or x=150°+k.360°;keZ
. not defined i fx =0°; 30°; 90° ; 150° ; 180°; 270° | AYvAVAY" (1 mark for any 2
correct values) 7
[12]
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QUESTION 9
9.1 a=2 Av a=2
= _45° AV b=-45° (2)
9.2 Period : 3¢ Av' 360° (1)
9.3 |C(-135° = Av -135° v -1 (2
9.4 D (0°;0,707) AV 0,707
E (180°; -0,707) Av -0,707 (2)
9.5 0° < x<165°; x # 45° AY' correct notation
Av' correct end values
v X # 45° (3)
[10]
QUESTION 10
10.1 | InARQS: Area ARQS = $SQ.RQsiny AV arearule
= laRQsiny AVY substitution
. RQ = _2A AY RQ
asiny
In APQR: tan x = PQ av PQ
QR QR
. PQ=0QRtanx AY QR tan x
- 2A . tanx
asiny )
10.2 PQ = 2A . tan x
" asiny Av' making A subject of
. formula
IA = PQasiny
tan x
_ PQa.siny
2 tan X AV substitu  ¥glues
_ 77m . 89m sin 115°
2 tan 46,5°
_77m . 89m (0,906)
2 (1,054) Av 0,906
= 2945,36 m? Av' 1,054 (5)
CAV  answer
[10]
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